DATA SHEET: TEMBREAK 2 H160-NJ MCCB

@

TERASAKI

Innovators in Protection Technology

MCCB Electrical Characteristics to IEC 60947-2, EN 60947-2, JIS C 8201-2-1 ANN.1, AS/NZS 3947-2, NEMA AB-1

Frame Reference Quantity | Unit | Condiion [ FB2SHIL250
Max In (A) of Frame 160
Model H160
Number of Poles 3,4
Type NJ
In ® 50°C 160
Electrical characteristics
Rated operational voltage Ue (A) AC 50/60 Hz 690
DC 250
Rated insulation voltage Ui V) 800
Rated impulse withstand voltage Uimp (kV) 8
Ultimate breaking capacity feu (kA) 690V AC 20
(IEC, JIS, AS/NZS) 525V AC 45
440V AC 120
400/415V AC 125
220/240V AC 150
250V DC 40
Service breaking capacity les (kA) 690V AC 15
(IEC, JIS, AS/NZS) 525V AC 45
440V AC 80
400/415V AC 85
220/240V AC 150
250V DC 40
: . (kA) 480V AC 45
Rated breaking capacity (NEMA) 240V AC 15
0
Adjustable thermal, adjustable magnetic |
Fixed thermal, fixed magnetic
Microprocessor
Utilisation category A
Front connection (FC) [ |
Extension bar (FB) °
Cable clamp (FW) °
Rear connecton (RC) °
Plug-in (PM) °
Din rail mounting (DA) -
Dimensions height (mm)
width (mm) | 3 pole, (1 pole) 165
4 pole 105
Weight depth (mm) 140
weight (kg) 3 pole, (1 pole) 103
4 pole 24
3.2
Direct Opening Action n
Toggle operation n
Door mounted (HS) / breaker mounted handle (HB) °
Motor operation (MC) L
Endurance Electrical cycles 415V AC 30,000
Mechanical cycles 30,000
B Standard ® Optional - Not Available * Applies to 20A to 32A models

Page 1 of 4



P,

SAKI

mrer

@ TERA

DATA SHEET: TEMBREAK 2 H160-NJ MCCB
Outline Dimensions H160-NJ

ASL: Arrangement Standard Line HL: Handle Frame Centre Line

Front connected
120 With extension bars Drilling plan
o7 (optional) (front view)
3P Interpole barrier 4P . 23
femovatle] Mounting hole Preparation of 3
. conductor s
P o © [ P
n! L ¥ L
Ll @ *
25(max.) 4 44—
maxt7 5
" ¢ g
& <[+ M4x0.7 1 1IN
Mounting screw =7 Mounting screw &J Lﬁl M4x0.7
Q8 Tapped hole
23[9
o211 =
Rear connected Drilling plan Panel cutout
(front view) (front view)
Mounting plate 3P 4P SMP 4,1|_P
I/ (max. 13.2) i 024 W 525 525
IJ\\I \IJ\\ IJ\\I \IJ\\IJ\\
N ANZAN
= 0 1| 0
Conductor = 02 g3 ¢ %Zl
2
AV TN YR Y
ANPINNVIAND) ANVINVIAN VRNV
Mounting screw M4x0.7 193.5.0 [935]
45°0r 90° 9 35135 35,3535, Tapped hole 107 142
4 107
127 Panel cutout dimensions shown give an
allowance of 1.0mm or more around the
handle escutcheon.
Front connected with Motor Operator
29 -
Preparation of = Panel hinge position (hatching area)
3P 4P conductor =3 bottom view
u Sl Drilling plan
25(max.) (front view)
max.t7
189
Front panel 2 59
!-/ M8 Screw 3p 4P "
[ L |:| =]
+ + |+
H
=
€ & =
N 100|100
T T N 20(1)50 15200
Connector plug —3_5J 35 M4x0.7
55 1995 Tapped hole
28(max.)
Rear connected with Motor Operator
Drilling plan Panel cutout
(front view) (front view)
189 4P
Operating knob Front panel t2 Mounting plate 3P 4P 3P
| /(max. 3.2 W 224 i Li}
IT\I \IT\ IT\I \IT\ IT\
:w# AR \\PrNpr s A Q
3 ol @ [ts]
Conductor = % N = 2
O] KPIOKD
Pad lock YAt 3] [35] T N maxor 45
Connector plug screw 3535 35/ 35 35 Tapped hole 90
5.5 . 45°0r 90° Panel cutout dimensions shown
give an allowance of 1.5mm
LI28(max.) around the handle escutcheon.

Page 2 of 4



DATA SHEET: TEMBREAK 2 H160-NJ MCCB

Outline Dimensions H160-NJ Plug-in Version

ASL: Arrangement Standard Line H: Handle Frame Centre Line

@ TERASAKI

Outline Dimensions

3P Mounting 4P
i hole W

Support or rail

Mounting screw

Termination of Busbar

Preperation of conductor

15.5 (max)

Mounting screw
M8x18 max.

Mounting on a support or rails (shown with optional connection bars oriented for rear access)

(rear view) Drilling plan(front view) Detail of connecting part
Oriented for rear access
3P 4P 3P 4P
) [ [ [ ] et
Support or rail 211 -
n pllly 4
=
[ 1
L
|+ + +
- ‘ 9 305 30.5
€ ¢ = 2 % 42 42
L e RI £
4 ¢‘
LLT Oy
4-06 406
15 17.5 45 15
Mounting screw 35 70 Term\r_\al bars should be connected alternately
b on adjacent poles.
Mounting through the backplate (shown with optional connection bars oriented for rear access)
8 (rear view) Mounting Plate Drilling plan(front view) De.tall of connecting part
Mounting plate 76.5 Oriented for rear access
; 3p / 4P 3p 4P
Mounting screw M5x20 2-06 4-0 6
i T L L] o1l
011 g
2 - !
i
30.5 30.5
0} 218 42 42
|
[J 00 &7
22 w 17.5
35 70
b T 1 * * ! Terminal bars should be connected alternately
109 144 on adjacent poles.

Mounting on the backplate (optional connection bars must be oriented for front access)

(rear view) Mounting Plate
22 Insulating plate 3P 4P
©
Mounting screw M5 NUT " b ,‘:

Mounting plate

Insulating plate

Drilling plan(front view)

Detail of connecting part
Oriented for front access

3P 4p
) )
—
[ i in
4+ & 4 el
|
\
o ol &l
[0} @ 74t =
122
4
2-06 17.57
35

Page 3 of 4



@ TERASAK|

DATA SHEET: TEMBREAK 2 H160-NJ MCCB

Time/Current Characteristic Curves
H160-NJ

| | Magnetic trip current
I I
| 1 1 (A (A
- et +—t 160 2080+416
sk 250 3250+650
AAN
W\
A\ \\ N 160AMmaY)
N\ | | 250A(max)
A\ /
\\ |
. \
N,
160A(min) / X\\ |
g soamin/ N SORL DN
= N AN NERAN
g TR N
a T [
= 1]
= ] N N
1 I
1 I
I I
I I
T 1
T 1]
:. , ! N Adjustéble setting range |
I ¥ L of ic trip —+—
o ! HI
T T
1 L
1 I
1 I
i1 1
1 \
1 \
t N
t =d
. S
1 .
i
1
|
1
1
1
cg © 9 9 2 8 9 8 g ssas s 9 29 9 8 g 9399
83888 5§ k8 € 38R888 8 §g ¢S S 5888

Percent Rated Current

sk for plug-in 225A 2925+585A

Page 4 of 4





